18

Goal: Divide integers.

The

WATCH ouT! &
You cannot divide a
number by 0. The b.
quatient of any
number divided by O C.
is undefined.

de.

Lesson 1.6 = Course 2 Not

vocabulary

the same sign is

Dividing Integers

A Standards

NS12

er.of v a;]uesi;; L

Dividing Integers
Words
The quotient of two integers with

‘positive |

quotient of two integers with

different signs is nﬁegaﬁve_' .

nonzero integer is .

=2 -[5]
-18
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-8 ..4
0
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The quotient of zero and any

Same sign, so

Different signs, so quotient is ' negatlve

Dividend is

Copyrigh

guotient is pOSI’tIVG .
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0 and divisior is nonzeor, so quotient is .
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3TV IR0 Muiltiple Choice Practice

Golf You golf four rounds of 18 holes.
) | The table shows your score for each

; round with respect to par. What is the
mean of your scores for the four rounds?

@& 3 ® -3 ©-12 O 12

Solution

Round | Score

Bl N
3]

To find the mean of your scores, first
find the sum of the scores.

6+ (—1) + 2+ (~T) =

Then, divide the sum by the number of scores.

Answer: The mean of your scores is | =3 |. The correct answer is | B |

® B O @

(LG RLEGDY Find the quotient.

Find the mean of the data.

7.45,-26,12,-18,-23 | 8.45 -55,-81,-13,-9,
- ' 34,-12 RPN
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Homework
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a 2
b

Solution

a 2
b

Evaluating Expressions

| evaluate the expression when a = —30,b=5,and ¢ = —2.

a
b. bc

for b.

for a and '

Substitute

Different signs, so quotient is |
Substitute

Multiply.
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